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Subtracting with Regrouping Name:
Solve each problem. Answers
1
1) 931 2) 611 3) 964 4) 815
- 763 - 523 -478 - 449 5
3,
4,
5 911 6 917 7) 235 8 711 >
- 262 =379 - 166 - 926 6
7.
8.
9) 0942 100 816 11) 422 12) 814 9.
-676 - 738 - 193 - 439
— — — — 10.
11.
12.
13) 814 14) 934 15 813 16) 836 13,
- 245 - 879 - 768 - 647
T T T T 14,
15.
16.
17) 761 18) 922 199 732 200 412 7
- 372 -278 - 548 - 135
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting with Regrouping Name: Answer Key
Solve each problem. Answers
1 168
) 931 2 611 3 964 4 815
- 763 - 523 - 478 - 449 5 88
168 88 486 366
3 486
4 366
5 911 6 917 7) 235 8 711 > 649
- 262 - 379 - 166 - 526 . 538
649 538 69 185
7 69
8. 185
9 942 10 816 1) 422 12) 814 J 266
- 676 - 738 - 193 - 439
=2 B = Snias w78
266 78 229 375
11, 229
1. 375
13 814 14) 934 15) 813 16) 836 13 569
- 245 - 879 - 768 - 647
569 55 45 189 4. 99
15. 45
16. 189
17) 761 18) 922 19) 732 20) 412 " 389
- 372 - 278 - 548 - 135
389 644 184 277 18, 644
1. 184
2. 277
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtracting with Regrouping Name:
Solve each problem. Answers
229 78 538 366
88 185 375 69 1.
266 649 168 486
2.
) 931 2 611 3 964 4 815 3.
- 763 - 523 -478 - 449
— — — — 4,
5.
6.
7.
8.
5 911 6) 917 7) 235 8 711 0,
- 262 - 379 - 166 - 526
- - - - 10.
11.
12.
9 942 10) 816 11) 422 12) 814
-676 - 738 - 193 - 439
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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